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ECONOMICS

Paper : ECO-RC/HG-1016

Full Marks : 80

Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer the following as directed : 1x10=10
oo fraraRe fAo s e fion

(a) What is scarcity?
el 2

(b) Mention the law of supply.
o R a1 |

() What is cross elasticity of demand?

sIRvR ORfe Rfewree 2
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(2)

(d) Define marginal utility.
2fdF Teicafarer s a1

(e} Can two isoquants cut each other?

TOR SHGRA (A1 FOR0 FRI MG ?

(/) What is a production function?

Teome To 32

(g) “All costs become variable in the long

run.

( Write True or False)

RIS SFC AR RIS W 1

(371 1 Fg o )

(h) Draw the total fixed cost curve.

P e T @ e

(i Mention one assumption of perfect

competition.

o oAfSTafAor B SS4RT e 1 |

( Continued )

0

2. Answer the following questions :

wore fam epepr e fi -
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(3)

“A firm under perfectly competitive
market earns supernormal profit in the
long run.”

( Write True or False)

o AfScaeTEe IWRY TP B e
R ST e wEd T 17

(3to1 1 ey o )

(a) Tlustrate the slope of 2 production

possibility curve.

AT TR (A1 GO Bt Pt 90

(b) What do you mean by price rationing?

Price rationing 3fe & 3817

¢/ What is an isocost line?

WA @4 ¥ 2

2x5=10
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(d)

(e)

3. Answer
questions :

(4)

Mention the conditions of equilibrium of
a firm.

G [ ARHE STIOR TR Bea
Salll

What is a shut down point?
B I g 2

any four from the following

5x4=20

oS 71 AR R coret wifRoR e ey

(a)

(b)

()

(@)
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What are the determinants of demand?
Explain.

vif¥e Rz & R Im Fa

Explain the concept of consumer’s
surplus.

(STE1R TF6q YIRNCH! T F41 |

Explain the Diamond-water paradox.

R1-5 ReACH! T T4

Distinguish the concepts of economies
and diseconomies of scale.

TIR Roafie] e SRGIRCH  qRACIIR
N forgr o

{ Continued )

SRS

4. Answer the following questions :
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(§5)

fe) What is budget constraint? Draw a
budget line and explain its slope.

JEs T4 B 7 GOF ICHG @A T TR ©F
BT R T

() Explain short-run equilibrium of a firm
under perfect competition.

o9 afeciier Sefs W AW ¥R
ZIIAR SRS M F41 |

ware il P B o

(a) Discuss the law of demand. When does
a demand curve shift upward or
downward?

witm RIS wemwa 401 R @W guE
& eorata 91 e oIS T2

Or / a1

What is price elasticity of demand? What
are its determinants? Discuss.

o @ e &2 WR Rz &
& 2 =Cemsa 40 |

2+3=5

10x4=40

7+3=10

3+7=10
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(6 ) | (7))

(b) Discuss how demand curve is derived Or / w1
from indifference curve and budget Explain how resources are adequately
constraint. 10 allocated in production under perfect
fRrs @1 e Acws IR [ [ sl competition. 10
I Serer =W, e 0 | | of ofecfiere BeAmAS TP JACAND
Or / S/ Reeq Reiea =g, e =0
Discuss the properties of indifference
curves. 10 xx
Fors e gz S 9|
(©) Critically discuss the law of variable '
proportions. 10
RGN wpperre RGN A I
S T4 |
Or / %3l

Discuss the cost minimizing equilibrium
f:ondition with the help of isoquant and
1socost line. 10
RTAF @91 WF T @R ORES I
TREER S 56 S 41 |

(d) Discuss the long-run industry supply
curve under perfect competition. 10

o aRfier tomr NERT @om @
SICEASA Fq |
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